ITI Electronic Mechanic 2nd Year Module 9 Fiber Optic Communication

(1). What is the wavelength of visible light spectrum? | €RYHIT UDI] %chgl-l Pl
TR & FATG?

(A) 200 to 250 nano meter
(B) 250 to 380 nano meter
(C) 380 to 750 nano meter
(D) 750 to 980 nano meter

Correct Answer : C

(2). What is the full form of OTDR? | OTDR &1 YUl & &1 g2
(A) Optical Time Domain Resolves

(B) Optical Time Domain Reflectometer

(C) Optical Time Domain Reflector

(D) Optical Time Domain Refractor

Correct Answer : B

(3). Which electronic device is used to convert the signal at receiving terminal of

fiber optic communication channel? | ThIgdX WWW%E’W
Rroret &1 uRafdd s & fore ford gaae e SUBHRUN o1 IUTNT fabaT ifd 572

(A) Opto coupler | &@W

(B) Opto isolator | H@&ﬂ%@w

(C) Photo detector | Ticl feeaer

(D) Light emitting diode | WQ’W"T@@@



Correct Answer : C

(4). Which loss is related to the fiber material used for optical communication? |

3P e TR o forE Ugad BTEeR Al &1 UaY ford JHa 4 82
(A) Absorption | 3A=IIoUT

(B) Dispersion | helld

(C) Hysteresis loss | e Jvam

(D) Radiative loss | Xf&Afed THIM

Correct Answer : A

(5). What is the full form of PPM? | PPM W@WW%’-’
(A) Push Pull Modulation

(B) Post Phase Modulation

(C) Para Phase Modulation

(D) Pulse Position Modulation

Correct Answer : D

(6). What is the core diameter size of single mode optical fiber? | Wtﬁg
PP BISER BT YT AN 3HR T 87

(A) 3.25X 103 inches

(B) 3.5X107*inches

(C) 3.5X107%inches

(D) 3.8 X107 %inches

Correct Answer : B



(7). What is the name of part marked ‘X’ in the multi mode optical fiber cable? |

A< A MY pd BIgeR pad | ' & U H RAIgd Ui ST am R g?
/—X

/
() P

(A) Core | PR

(B) Cladding | &S

(C) Buffer jacket | TP Sdbe

(D) Strength member | YIfad e

Correct Answer : A

(8). What is the name of optical fiber cable part marked ‘X’? | &FT@WW
B YTT? X ‘ST TH FT 82



(A) Core | PR

(B) Cladding | FITST

(C) Buffer jacket | THY Sdbe

(D) Strength member | fad Tad

Correct Answer : C

(9). Which equipment is necessary for the optical fiber cable servicing? | &FT@W
PHIZER Had AARNT & oI DI T IUHRUT aRTH g2

(A) Connectors | GeEG st

(B) OFC couplers | OFC BT

(C) Fusion splicer | ol TUdR
(D) Multiplexing circuits | AR R gfdhe

Correct Answer : C

(10). What is the name of the loss occurring due to the bend of finite radius in the

optical fiber cable? | 3PP A BIgeR Had H TR B35a1 & AlS & HRUTBIH
qTelt g1 &1 91 1 82

(A) Luminance loss | EI;&IQITHFI'UN
(B) Dispersion loss | SRS PR RSIES]
(C) Hysteresis loss | %@ﬁ@?ﬂ'\m
(D) Radiative loss Immﬁm

Correct Answer : D




